## CHAPTER 3041. [Reserved]

### Authority

The provisions of this Chapter 3041 issued under sections 201-211, 401-493 and 701-703 of the Public Welfare Code (62 P.S. §§ 201-211, 401-493 and 701-703); deleted under sections 201(2), 403(b) and 403.1 of the Human Services Code (62 P.S. §§ 201(2), 403(b) and 403.1), unless otherwise noted.

### Source

The provisions of this Chapter 3041 adopted June 17, 2005, effective July 1, 2005, 35 Pa.B. 3491; deleted December 15, 2023, effective December 16, 2023, 53 Pa.B. 7827, unless otherwise noted. Immediately preceding text appears at serial pages (361065) to (361066), (312077) to (312078), (375645) to (375646), (361067) to (361074), (376619) to (376620), (361077) to (361078), (376621) to (376627), (312099), to (312100), (325157) to (325158), (376629) to (376630), (312105) to (312106), (361087) to (361088), (376631) to (376632), (361091) to (361092), (376633) to (376634), (312115) to (312118), (361093) to (361104), (414173) to (414186) and (387309) to (387310).

# §§ 3041.1 and 3042. [Reserved].

# § 3041.3. [Reserved].

### Authority

The provisions of this § 3041.3 amended under sections 201(2), 403(b) and 403.1 of the Human Services Code (62 P.S. §§ 201(2), 403(b) and 403.1).

#### Source

The provisions of this § 3041.3 amended April 13, 2012, effective April 14, 2012, 42 Pa.B. 2029; deleted December 15, 2023, effective December 16, 2023, 53 Pa.B. 7827. Immediately preceding text appears at serial pages (312078), (375645) to (375646) and (361067).

## §§ 3041.11—3041.18. [Reserved].

## § 3041.19. [Reserved].

## Authority

The provisions of this § 3041.19 amended under sections 201(2), 403(b) and 403.1 of the Human Services Code (62 P.S. §§ 201(2), 403(b) and 403.1).

#### Source

The provisions of this § 3041.19 amended April 13, 2012, effective April 14, 2012, 42 Pa.B. 2000; deleted December 15, 2023, effective December 16, 2023, 53 Pa.B. 7827. Immediately preceding text appears at serial pages (361070) to (361071).

## § 3041.20. [Reserved].

### Authority

The provisions of this § 3041.20 amended under sections 201(2), 403(b) and 403.1 of the Human Services Code (62 P.S. §§ 201(2), 403(b) and 403.1).

### 3041-1

(417399) No. 592 Mar. 24

### Source

The provisions of this § 3041.20 amended April 13, 2012, effective April 14, 2012, 42 Pa.B. 2000; deleted December 15, 2023, effective December 16, 2023, 53 Pa.B. 7827. Immediately preceding text appears at serial page (361071).

# § 3041.21. [Reserved].

### Authority

The provisions of this § 3041.21 amended under sections 201(2), 403(b) and 403.1 of the Human Services Code (62 P.S. §§ 201(2), 403(b) and 403.1).

#### Source

The provisions of this § 3041.21 amended April 13, 2012, effective April 14, 2012, 42 Pa.B. 2000; deleted December 15, 2023, effective December 16, 2023, 53 Pa.B. 7827. Immediately preceding text appears at serial page (361072).

§ 3041.22. [Reserved].

§§ 3041.31—3041.34. [Reserved].

§§ 3041.41—3041.48. [Reserved].

# § 3041.51. [Reserved].

### Authority

The provisions of this § 3041.51 amended under sections 201(2), 403(b) and 403.1 of the Human Services Code (62 P.S. §§ 201(2), 403(b) and 403.1).

#### Source

The provisions of this § 3041.51 amended April 13, 2012, effective April 14, 2012, 42 Pa.B. 2000; deleted December 15, 2023, effective December 16, 2023, 53 Pa.B. 7827. Immediately preceding text appears at serial pages (361077) to (361078) and (376621).

### **Cross References**

This section cited in 55 Pa. Code § 3041.13 (relating to parent choice); and 55 Pa. Code § 3041.107 (relating to availability and use of the Federal Poverty Income Guidelines).

# § 3041.52. [Reserved].

## Source

The provisions of this § 3041.52 reserved April 13, 2012, effective April 14, 2012, 42 Pa.B. 2029. Immediately preceding text appears at serial pages (361079) to (361080).

## 3041-2

(417400) No. 592 Mar. 24

Copyright © 2024 Commonwealth of Pennsylvania

Ch. 3041

# §§ 3041.61—3041.64. [Reserved].

# § 3041.65. [Reserved].

## Authority

The provisions of this § 3041.65 amended under sections 201(2), 403(b) and 403.1 of the Human Services Code (62 P.S. §§ 201(2), 403(b) and 403.1).

### Source

The provisions of this § 3041.65 amended April 13, 2012, effective April 14, 2012, 42 Pa.B. 2029; deleted December 15, 2023, effective December 16, 2023, 53 Pa.B. 7827. Immediately preceding text appears at serial pages (376624) to (376625).

# § 3041.66. [Reserved].

# § 3041.67. [Reserved].

## Authority

The provisions of this 3041.67 amended under sections 201(2), 403(b) and 403.1 of the Human Services Code (62 P.S. § 201(2), 403(b) and 403.1).

### Source

The provisions of this § 3041.67 amended April 13, 2012, effective April 14, 2012, 42 Pa.B. 2029; deleted December 15, 2023, effective December 16, 2023, 53 Pa.B. 7827. Immediately preceding text appears at serial pages (376625) to (376626).

# §§ 3041.68—3041.78. [Reserved].

§§ 3041.81—3041.84. [Reserved].

# § 3041.85. [Reserved].

## **Cross References**

This section cited in 55 Pa. Code § 168.61 (relating to reporting requirements).

# § 3041.86. [Reserved].

- §§ 3041.91—3041.94. [Reserved].
- §§ 3041.101—3041.107. [Reserved].

## § 3041.108. [Reserved].

## Authority

The provisions of this § 3041.108 amended under sections 201(2), 403(b) and 403.1 of the Human Services Code (62 P.S. §§ 201(2), 403(b) and 403.1).

## 3041-3

(417401) No. 592 Mar. 24

#### Source

The provisions of this § 3041.108 amended April 13, 2012, effective April 14, 2012, 42 Pa.B. 2029; deleted December 15, 2023, effective December 16, 2023, 53 Pa.B. 7827. Immediately preceding text appears at serial pages (361087) to (361088).

§ 3041.109. [Reserved].

§§ 3041.121—3041.133. [Reserved].

§§ 3041.141—3041.150. [Reserved].

§§ 3041.161—3041.166. [Reserved].

§ 3041.167. [Reserved].

### Authority

The provisions of this § 3041.167 amended under sections 201(2), 403(b) and 403.1 of the Human Services Code (62 P.S. §§ 201(2), 403(b) and 403.1).

#### Source

The provisions of this § 3041.167 amended April 13, 2012, effective April 14, 2012, 42 Pa.B. 2000; deleted December 15, 2023, effective December 16, 2023, 53 Pa.B. 7827. Immediately preceding text appears at serial pages (361094) to (361095).

# §§ 3041.171—3041.176. [Reserved].

## § 3041.181. [Reserved].

# §§ 3041.182 and 3041.183. [Reserved].

## Authority

The provisions of these \$ 3041.182 and 3041.183 amended under sections 201(2), 403(b) and 403.1 of the Human Services Code (62 P.S. \$ 201(2), 403(b) and 403.1).

#### Source

The provisions of this § 3041.182 amended April 13, 2012, effective April 14, 2012, 42 Pa.B. 2000; deleted December 15, 2023, effective December 16, 2023, 53 Pa.B. 7827. Immediately preceding text appears at serial pages (361098) to (361099).

# §§ 3041.184 and 3041.185. [Reserved].

# § 3041.186. [Reserved].

### Authority

The provisions of this § 3041.186 amended under sections 201(2), 403(b) and 403.1 of the Human Services Code (62 P.S. §§ 201(2), 403(b) and 403.1).

## 3041-4

(417402) No. 592 Mar. 24

Copyright © 2024 Commonwealth of Pennsylvania

Pt. V

Ch. 3041

#### Source

The provisions of this § 3041.186 amended April 13, 2012, effective April 14, 2012, 42 Pa.B. 2000; deleted December 15, 2023, effective December 16, 2023, 53 Pa.B. 7827. Immediately preceding text appears at serial pages (361099) to (361100).

# § 3041.187. [Reserved].

# §§ 3041.188 and 3041.189. [Reserved].

#### Authority

The provisions of these §§ 3041.188 and 3041.189 amended under sections 201(2), 403(b) and 403.1 of the Human Services Code (62 P.S. §§ 201(2), 403(b) and 403.1).

#### Source

The provisions of this § 3041.188 amended April 13, 2012, effective April 14, 2012, 42 Pa.B. 2000; deleted December 15, 2023, effective December 16, 2023, 53 Pa.B. 7827. Immediately preceding text appears at serial pages (361100) to (361102).

## APPENDIX A. [Reserved].

### Authority

The provisions of this Appendix A amended under sections 201(2), 403(b) and 403.1 of the Human Services Code (62 P.S. §§ 201(2), 403(b) and 403.1).

#### Source

The provisions of this Appendix A amended April 13, 2012, effective April 14, 2012, 42 Pa.B. 2029; deleted December 15, 2023, effective December 16, 2023, 53 Pa.B. 7827; corrective amendment, 53 Pa.B. 8237. Immediately preceding text appears at serial pages (361102) to (361104) and (414173).

## **APPENDIX B.** [Reserved].

#### Source

The provisions of this Appendix B amended May 5, 2006, effective May 1, 2006, 36 Pa.B. 2238; amended June 29, 2007, effective June 30, 2007, 37 Pa.B. 3027; amended August 8, 2008, effective May 5, 2008, 38 Pa.B. 4441; amended May 15, 2009, effective May 4, 2009, 39 Pa.B. 2497; amended April 22, 2011, effective May 2, 2011, 41 Pa.B. 2172; amended September 30, 2011, effective October 3, 2011, 41 Pa.B. 5232; amended May 18, 2012, effective May 7, 2012, 42 Pa.B. 2853; amended May 3, 2013, effective May 6, 2013, 43 Pa.B. 2515; amended May 2, 2014, effective May 5, 2014, 44 Pa.B. 2715; amended May 1, 2015, effective May 4, 2015, 45 Pa.B. 2192; amended May 20, 2016, effective May 2, 2016, 46 Pa.B. 2625; amended June 16, 2017, effective May 1, 2017, 47 Pa.B. 3447; amended May 25, 2018, effective May 7, 2018, 48 Pa.B. 3172; amended June 14, 2019, effective May 6, 2019, 49 Pa.B. 3160; amended September 4, 2020, effective May 4, 2020, 50 Pa.B. 4617; amended April 30, 2021, effective May 3, 2021, 51 Pa.B. 2451; amended January 21, 2022, effective January 17, 2022, 52 Pa.B. 502; amended April 22, 2022, effective May 2, 2022, 52 Pa.B. 2434; amended October 7, 2022, effective September 12, 2022, 52 Pa.B. 6425; amended May 5, 2023, effective May 1, 2023, 53 Pa.B. 2490; deleted December 15, 2023, effective December 16, 2023, 53 Pa.B. 7827; corrective amendment, 53 Pa.B. 8237. Immediately preceding text appears at serial pages (414174) to (414185).

## 3041-5

(417403) No. 592 Mar. 24

## **Cross References**

This Appendix B cited in 55 Pa. Code § 168.1 (relating to policy on payment of child care); 55 Pa. Code § 168.2 (relating to definitions); and 55 Pa. Code § 168.74 (relating to determining weekly child care co-payment for the employed TANF budget group).

## APPENDIX C. [Reserved].

### Source

The provisions of this Appendix C deleted December 15, 2023, effective December 16, 2023, 53 Pa.B. 7827, corrective amendment, 53 Pa.B. 8237. Immediately preceding text appears at serial pages (414186), (387309) to (387310).

## **Cross References**

This Appendix C cited in 55 Pa. Code § 168.1 (relating to policy on payment of child care); and 55 Pa. Code § 168.74 (relating to determining monthly child care co-payment).

[Next page is 3042-1.]

## 3041-6

(417404) No. 592 Mar. 24

Copyright © 2024 Commonwealth of Pennsylvania